
BECC-131 1   P.T.O. 

 BECC-131  

BACHELOR OF ARTS (GENERAL)  

(BAG)  

(ECONOMICS) 

Term-End Examination 

December, 2022 

BECC-131 : PRINCIPLES OF MICROECONOMICS-I 

Time : 3 hours Maximum Marks : 100 

Note : Attempt questions from each section as per 

instructions given.  

 SECTION A 

Answer any two questions from this section in about 

500 words each.. 220=40 

1. (a) Why does a demand curve slope downward ? 

Give reasons. 10 

(b) Using geometrical method of calculating 

price elasticity of demand, show that the 

elasticity of demand varies between zero 

and infinite, in the case of a straight line 

demand curve. 10 

2. (a) What is Marginal Rate of Substitution ? 

Why does it diminish in case of normal 

goods ? 10 
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(b) Given the following supply and demand 

equations : 

  QD = 50 – 5P 

  QS = 5P  

(i) Determine the equilibrium price and 

quantity. 

(ii) If the government sets a minimum 

price of < 8 per unit, how many units 

will be supplied and demanded ?  10 

3. (a) Show the second stage of production under 

the law of variable proportion. Why does a 

producer always produce in this stage only ? 10 

(b) Explain why a producer attains equilibrium 

at tangency between an isoquant and an 

isocost line ? 10 

4. (a) ‘‘The average variable cost curve is the 

reciprocal of average variable (factor) 

product curve.’’ Discuss. 8 

(b) Find AFC, AVC, AC and MC from the 

following data : 12 

 TFC — < 100 

Output 0 1 2 3 4 5 6 

TVC 0 50 70 81 120 160 210 
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 SECTION B 

Answer any four questions from this section. 412=48 

5. Distinguish between change in quantity 

demanded and change in demand. Explain the 

reasons for change in demand of a commodity. 6+6=12 

6. Who bears the tax burden under the following 

situations : 6+6=12 

(a) When supply curve is perfectly elastic and 

demand curve is downward sloping. 

(b) When supply curve is of normal shape and 

demand curve is perfectly inelastic ? 

7. What is Income Consumption Curve (ICC) ? 

Draw the ICC in case of normal goods, luxurious 

goods and inferior goods. 12 

8. Define internal economies of scale. Explain its 

different types. 12 

9. Draw long run marginal cost curve and long run 

average cost curve. Explain the relationship 

between these two. 12 

10. What are the central problems of an economy ? 

How do we solve these problems in a mixed 

capitalist economy ? 12 
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 SECTION C 

11. Make the distinction between any three of the  

following : 34=12 

(a) Positive vs Normative Economics 

(b) Own Price Elasticity of Demand vs Cross 

Price Elasticity of Demand 

(c) Isoquants and Indifference Curves 

(d) Returns to a Factor vs Returns to Scale 

(e) Stock Variable vs Flow Variable 
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 ~r.B©.gr.gr.-131  

H$bm ñZmVH$ (gm_mÝ`) 
(~r.E.Or.) 
(AW©emñÌ) 

gÌm§V narjm 

{Xgå~a, 2022 

~r.B©.gr.gr.-131 : ì`{îQ> AW©emñÌ Ho$ {gÕm§V-I 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ ^mJ go {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE & 

^mJ H$ 

Bg ^mJ _| go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| 

(àË`oH$) _| Xr{OE & 220=40 

1. (H$) EH$ _m±J dH«$ H$m T>bmZ ZrMo H$s Amoa Š`m| hmoVm  

h¡ ? H$maU Xr{OE & 10 

(I) _m±J H$s H$s_V bmoM H$s JUZm H$s Á`m{_Vr` {d{Y 

H$m à`moJ H$aHo$ Xem©BE {H$ EH$ grYr _m±J aoIm H$s 

pñW{V _| _m±J H$s bmoM eyÝ` Am¡a AZ§V () Ho$ ~rM 

{^Þ hmoVr h¡ & 10 

2. (H$) gr_m§V à{VñWmnZ H$s Xa Š`m h¡ ? gm_mÝ` dñVw H$s 

pñW{V _| `h KQ>Vr hþB© Š`m| hmoVr h¡ ? 10 
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(I) ZrMo {XE hþE _m±J Am¡a ny{V© g_rH$aUm| go :  

  QD = 50 – 5P 

  QS = 5P  

(i) g§VwbZ H$s_V Am¡a _mÌm {ZYm©[aV H$s{OE & 

(ii) `{X gaH$ma < 8 à{V BH$mB© Ý ỳZV_ H$s_V 
V` H$aVr h¡, Vmo Cº$ H$s_V na {H$VZr 
BH$mB`m| H$s ny{V© Am¡a _m±J hmoJr ? 10 

3. (H$) n[adVu AZwnmV Ho$ {Z`_ Ho$ A§VJ©V CËnmXZ H$s 

Xÿgar AdñWm Xem©BE & EH$ CËnmXH$ h_oem Bg 

AdñWm _| hr CËnmXZ Š`m| H$aVm h¡ ? 10 

(I) g_PmBE {H$ EH$ CËnmXH$ g_moËnmX dH«$ Am¡a 

g_bmJV aoIm Ho$ ñne©-{~ÝXw na g§VwbZ Š`m| àmá 

H$aVm h¡ ? 10 

4. (H$) ‘‘Am¡gV n[adVu bmJV dH«$, Am¡gV n[adVu 

(H$maH$) CËnmX dH«$ H$m ì`wËH«$_ hmoVm h¡ &’’ MMm© 

H$s{OE & 8 

(I) {ZåZ Am±H$‹S>m| go AFC, AVC, AC Am¡a MC kmV 

H$s{OE : 12 

 TFC — < 100 

CËnmX 0 1 2 3 4 5 6 

TVC 0 50 70 81 120 160 210 
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^mJ I  

Bg ^mJ> _| go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & 412=48 

5. _m±J H$s JB© _mÌm _| n[adV©Z Am¡a _m±J _| n[adV©Z _| A§Va 
ñnîQ> H$s{OE & EH$ dñVw H$s _m±J _| n[adV©Z Ho$ H$maU 
g_PmBE & 6+6=12 

6. {ZåZ{b{IV pñW{V`m| _| H$a H$m ^ma H$m¡Z dhZ H$aVm  
h¡ ?  6+6=12 

(H$) O~ ny{V© dH«$ nyU©V`m bmoMXma h¡ Am¡a _m±J dH«$ ZrMo 
H$s Amoa T>bmZ dmbm h¡ & 

(I) O~ ny{V© dH«$ gm_mÝ` AmH$ma H$m h¡ Am¡a _m±J dH«$ 
nyU©V`m ~obmoMXma h¡ & 

7. Am`-Cn^moJ dH«$ (ICC) Š`m h¡ ? gm_mÝ` dñVwAm|, 
{dbm{gVm dñVwAm| Am¡a {ZH¥$îQ> dñVwAm| H$s pñW{V _| ICC 

Amao{IV H$s{OE & 12 

8. n¡_mZo H$s Am§V[aH$ {_Vì`{`VmAm| H$mo n[a^m{fV H$s{OE & 
BgHo$ {d{^Þ àH$mam| H$mo g_PmBE & 12 

9. XrK©H$mb gr_m§V bmJV dH«$ Am¡a XrK©H$mb Am¡gV bmJV 
dH«$ ~ZmBE & BZ XmoZm| Ho$ ~rM g§~§Y H$s ì`m»`m H$s{OE & 12 

10. EH$ AW©ì`dñWm H$s H|$Ðr` g_ñ`mE± Š`m h¢ ? EH$ {_{lV 
ny±OrdmXr AW©ì`dñWm _|, h_ BZ g_ñ`mAm| H$mo hb H¡$go 
H$aVo h¢ ? 12 
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^mJ J  

11. {ZåZ{b{IV _| go {H$Ýht VrZ  _| A§Va H$s{OE :  34=12 

(H$) `WmW©_ybH$ ~Zm_ AmXe©_ybH$ AW©emñÌ 

(I) _m±J H$s AnZr H$s_V bmoM ~Zm_ _m±J H$s {VaN>r 

H$s_V bmoM 

(J) g_moËnmX dH«$ Am¡a VQ>ñWVm dH«$ 

(K) EH$ H$maH$ Ho$ à{V\$b ~Zm_ n¡_mZo Ho$ à{V\$b 

(L>) ñQ>m°H$ Ma ~Zm_ àdmh Ma 


